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QUESTION 1

DRAG DROP 

An application is being built to collect and display telemetry streaming data. Drag and drop the elements of this stack
from the left onto the correct element functions on the right. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

Which tool is used to deploy an IOx application to a group of lOx devices at one time? 
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A. ioxclient 

B. lOx local manager 

C. Fog Network Director 

D. Kubernetes 

Correct Answer: C 

 

QUESTION 3

A developer in a learn of distributed authors is working on code in an isolated Git branch named \\'update4a2f5464771
The developer attempts to merge the new code with a branch named \\'dvcapp2a3f1564733\\' however the merge
operation encounters a conflict error during the process. Which Git command must the developer use to exit from the
merge process and return the branch to the previous state? 

A. git merge -exit 

B. git merge -abort 

C. git abort --merge 

D. git abort -status 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 

Which code snippet must be added to the blank in the code to automate the evaluation and handling of errors due to
wrong credentials when Basic Authorization is used? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

 

QUESTION 5

A developer has completed the implementation of a REST API, but when it is executed, it returns a 401 error message.
What must be done on the API to resolve the issue? 

A. Access permission to the resource must be granted, before the request. 

B. Configure new valid credentials. 

C. The requested API endpoint does not exist, and the request URL must be changed. 

D. Additional permission must be granted before the request can submitted. 

Correct Answer: B 

Latest 350-901 Dumps 350-901 PDF Dumps 350-901 VCE Dumps

Powered by TCPDF (www.tcpdf.org)

Latest 350-901 Dumps | 350-901 PDF Dumps | 350-901 VCE Dumps                                4 / 4

https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html
http://www.tcpdf.org
https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html

